1. Find the dot product for the following pairs of vectors:
a. Row vector = (2  0)   Column vector is below
	5

	18


b. Row vector = (3  9  -4)  Column vector is below
	3

	0

	2


c. Row vector = (5  6  7  8)
	1

	1

	1

	1


 

The following matrices will be used in problems 2-3 below:
	 
	0
	-2
	5

	A=
	3
	-4
	17

	 
	1
	2
	3

	 
	9
	7
	2


 

	 
	-3
	3
	0

	B=
	-4
	-5
	9

	 
	-2
	0
	6

	 
	-8
	6
	4


 

	 
	3
	3
	0
	-7

	X=
	7
	5
	1
	1

	 
	4
	3
	3
	-1


 

	 
	4
	1
	0
	5

	Y=
	3
	-2
	7
	1

	 
	-5
	8
	-6
	2


2. Answer True or False using the matrices above
 

a. 2A + 2B = 2(A + B)
b. AT + BT =  (A + B)T
c. Let C = A *  X, then C will be a 3 by 3 matrix
d. Let D = Y * B, then D will be a 3 by 3 matrix
e. (A * X)T =  AT *  BT
 

3. Do the specified matrix multiplications. Show your work.
 

a. A *  X
b. Y *  B
c. A * Y
d. B * X
 

4. Find the inverses of the following matrices
a.    
	8
	6

	5
	4


b.
	3
	2

	7
	4


c.
	8
	5

	-7
	-5


d.
	3
	-4

	7
	-8


 

5. Use elementary row operations to reduce the following matrices to echelon or reduced echelon form
a.
	0
	-2
	-1
	 

	3
	0
	0
	 

	-1
	1
	1
	 


b.  

	3
	5
	4
	 

	1
	0
	1
	 

	2
	1
	1
	 


c.  

	3
	6
	7
	 

	0
	2
	1
	 

	2
	3
	4
	 


